INTE DIATE ALGEBRA EXaM 4 TR NAME
SHOW ALL WORK ON THIS TEST OR ON SEPARATE PAPER. Circle answers.
TURN IN ALL WORKSHEETS. CALCULATORS ARE REQUIRED ON THIS TEST.

1. Graph the equations:

a)  _3X +2Y = 12 b) Y=1;’-X+6
X-int = Y-int =
Y-int =
slope = Slope =

2. Given the points (-2, =1) and (4, 3), find:

a) distance b) slope ¢) midpoint
3 Find the slope of a line that 4. Find the equation of the
a) is parallel to X + 5Y = 4. line (in y=mX+b form)
passing through (-4, 2)
and (6, 8).
b) is perpendicular to
X + 5Y = 4,
5. Find the equation of the line (in y=mx+b form) passing through

(-4, 2) and perpendicular to Y = 3x ~ 4.



In 6 - 9, solve the systems of equations (Show ALL work

6.

10.

11.

using methods from algebra):

5X - 3Y = 38 7. TX - 3y = 5
X+Y = -2 6X + 2Y = -2
X+ Y=5 9., 66X + BY = -2
Y=-X+5 Y = ~-3X + 14

Graph the intersection of
the inequalities:
2X - ¥ < =2

Y< X+ 3

Find the slope and the Y-intercept for 3X - 5Y = 2



12. If £(X) =3X -4 and g(x)=x%2-4x+5

a) £(0) = b) g(0) =
c) £(-2) = d) g(-2) =
e) f£(BY) = f) g(Junk) =

13. Find the domain (give interval notation when appropriate):

X -6
a) Y= b) Y = X2 - c) Y = /6 -
X2 +3X - 10 X9 8- X

14. Find the domain and range of each of the following graphs.
Determine whether each is a function or not a function.

1 0,2)
T 0,-2) x
e \
Function? Function?
Domain: Domain:

Range: Range:




Tartermedate Algelmn Eam 4TRE Solitions

éf? Sveika ™
e =Jx?ﬁz
29=3X+ /1. =S
§=3x+g @
.?,CC) X+357 = q- {) ‘M.:;::z.:x
' jgﬂ‘xi' - = 3= _ 4
X XA L. S Ea 1-(3) L&
" /4’/. ‘G)@”’“@“ gzm}é)%is) Kt
= = = <
O s £ L@ 2 ot (K gy

é357( 33 = 38 é AL 22‘4—%" 2+4 —(+3
G LD
ST S <y

3% 43% = _¢ 7>Z7x— 9=

— 3/ X+g g_
% —= 32 = é><+zc4 g =t
= 14X —54 =0 K+ (- x_,_?) -
—IE8X +54 =—¢
X = 4 *’l—eé/ A
7 eXA sY= -2
~7-34=6" d=—3x+14
—39=/2 EX +5(~3x+ 14) = -2

@ 62<.-/S\)<‘/‘70::—-Z_
- —éx{—Zg =—2—
GG)( ~)-f2 () = =2
/

~= A §+ 5

AgC9)

= 24) #24)45
=4 +8Y+<




